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Fourier [ [

Fourier [ [

Bracket [ [
[1-1] 00000
100000ooog

0% 0%u
ﬁ(%t) = 02@(%15)

(1)

O00000.000,00000,0000000 u(x,t)DDODOO,00
O0OO000d. Parameter v >0 00000000000, 000000

goobooogoooo.

1. 00010000 fi(y), Lk O0OOO,

u(z,t) = fi(x +vt) + folz — vt) (2)

0000 (1)0000000000000.00,000 u(z,t) 0,
“t+=000 fi(z)00000000,200000000070 ¢
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t=000 fo(x) 00000000,z 0000000007000
gboboboogoobbobooga.

.000 (1)0,00000
u(z,t) = X(x)T(t) (3)
oooooo.

.000 (1)0,00000 u,t)=f(z)e* (000000000
000)0 f(z) 000,00 fz)e* 0,00000000000
0 (2000000000,



[1-2] 0000

1gooboobogod

0%u 0%u
w(%t) = U2%($,t) (4)
gdoo.

1. 00000ooog
u(0,t) = u(L,t) =0 (5)
0000,0000 w(z,t)=f(z)e* 0000000,0000.

2.00000000

ou ou
S(0,0) = So(L1) =0 (6

0000,0000 u(z,t)=fx)e* 0000000,0000.

[1-3] 000000000

00000000 w(0,t)=u(L,t)=00000,00000

ey = )
goog.
0o ¢t=00000,
u(, 0) =Asin 2%1: (8)
%(:c, 0) =Bsin T (9)

O000000. 0000000000 u(z,t)000OO.

Hint. u(z,t) = Csin Zasin(wt+6) 0000000.



